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= 15,000 0 15,000
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e 810,000 510,000 300,000
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& 1,190,000 1,190,000 0
s 810,000 510,000 300,000
01 A& HI 1,993,880 1,693,880 300,000
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& 1,298,000 1,298,000 0
s 497,000 56,286 440,714
307 glz2tol & 14,400 28,800 A 14,400
02 QItFAE X 14,400 28,800 A 14,400
O sZE0SSEMNLASY Z & 14,400,000 14,400 28,800 A 14,400
401 AIEHI L 2 CHYI 646 1,325,486 A 1,324,840
& 0 1,298,000 A 1,298,000
[ia 646 27,486 A 26,840
01 A€ HI 0 1,318,915 A 1,318,915
O sENSSE LAY 28 0& 1,318,915 A 1,318,915
& 1,298,000 A 1,298,000
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03 A& 2 THHI 646 6,571 A5,925
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s 481,954 0 481,954
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i 120,000 60,000 60,000
401 A& HIZ 201 8] 200,000 100,000 100,000
) 80,000 40,000 40,000
i 120,000 60,000 60,000
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= 150,000 0 150,000
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= 150,000 0 150,000
01 Al H 298,920 0 298,920
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=) 16,305 13,855 2,450
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O SHHENE Z&AY 23 79,280,0002! 79,280 64,000 15,280
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= 400,000 0 400,000
01 Al&HI 397,120 0 397,120
O UTd FHIAL('12STAH) (HEH)
400,000,0008 * 99.28/100 397,120 0 397,120
= 397,120 0 397,120
03 Al& = Oh 2,880 0 2,880




2N
X ZH -
L= B

el

rag=R=p\ i
THoll X THEHOo &
ot 2el

SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
O =& FHIMG('125S1A) (H8H)
400,000,000 * 0.72/100 2,880 0 2,880
£ 2,880 0 2,880
C2AAzE 6,635,890 5,765,420 870,470
2 3,293,000 2,993,000 300,000
(= 10,000 0 10,000
2 3,332,890 2,772,420 560,470
25 S0HE CS2AY 4,661,890 3,791,420 870,470
2 2,306,000 2,006,000 300,000
(= 10,000 0 10,000
2 2,345,890 1,785,420 560,470
DT ALY 296,890 217,420 79,470
201 L2 Y| 25,820 23,820 2,000
02 2229 H] 25,020 23,020 2,000
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7,470,0002 * 1Z X 7,470 0 7,470
03 A& 20 H 1,800 1,440 360
O 2E8X B2 A 2 A 900,0008 900 540 360
SHE T2AY 130,000 60,000 70,000
401 Al Y2 20| 130,000 60,000 70,000
01 Al&H| 129,100 59,460 69,640
O SHEEZZ2 X B:2A
2 99,100,000 99,100 49,460 49,640
O ME~EH 2t SOHHETZ ST DA AAIA
H 24 20,000,0008 * 1Al 20,000 0 20,000
03 Al& 21 H 900 540 360
O SHEZ2 X 24&3A  ZFE 900,000 900 540 360
Halol 853729 HMALY 280,000 280,000 0
2 140,000 140,000 0
2 140,000 140,000 0
201 LEr2 A H| 5,000 0 5,000
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Z 2,500 0 2,500
= 2,500 0 2,500
401 Al HI L 2 THHI 275,000 280,000 A5,000
Z 137,500 140,000 ~2,500
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O 0121025 SN & A
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z 137,500 140,000 A2,500
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= 1,500,000 1,500,000 0
= 1,000,000 1,000,000 0
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= 10,800 10,800 0
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01 AL 22l | 36,000 18,000 18,000
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Z 400,000 100,000 300,000
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= 397,320 100,000 297,320
= 397,320 98,560 298,760
03 Al & = Ohl 5,360 1,440 3,920
O AHET2IAFME AL 23 5,360,009 5,360 1,440 3,920
z 2,680 0 2,680




AN ALY

. T2 A2

g2l 22, S0E E2AE (&)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
| = 2,680 1,440 1,240
HATHAIE Bl ALY 101,000 0 101,000
401 Al HIZ 201 I 101,000 0 101,000
01 A& HI 100,000 0 100,000
CYHATI HUIAY

100,000,000& = 1Al 100,000 0 100,000
03 Al 2 THHI 1,000 0 1,000
O TLHATHA HUlAL 1,000,000 1,000 0 1,000
H S 2 X2te] 20,000 0 20,000
= 10,000 0 10,000
[ia 10,000 0 10,000
401 AIEHI L 2 CHYI 20,000 0 20,000
=) 10,000 0 10,000
s 10,000 0 10,000
01 A€ HI 20,000 0 20,000
O 2013¢ HE2X EH ALY 20,000,000& 20,000 0 20,000
=) 10,000 0 10,000
= 10,000 0 10,000
HY2LIH (AL L) 30,780 31,925 A1,145
Jl2ZH (A& mu) 30,780 31,925 A1,145
2z (HEdF) 19,311 20,135 AB24
201 L Et2A | 14,475 15,045 A570
01 At 2teltl 14,475 15,045 A 570
O «et==&H| 10,835 11,405 AB70
— BAN2E SHAY Z & 10,835,000 10,835 11,405 2570
202 044l 4,836 5,090 A 254
01 SLHOYI 4,836 5,090 A 254
O BA2gE S84 d & 4,835,500 4,836 5,090 N 254
2zl (sgole) 3,823 3,930 A 107
202 44l 2,023 2,130 A 107
01 S LHOYI 2,023 2,130 A 107
O BAN2E SN Z2& 2,023,000 2,023 2,130 A 107
g (=22eal) 3,823 3,930 A 107
202 Oddl 2,023 2,130 A 107
01 = LH 4 Hi 2,023 2,130 A 107
O BM2g S9AY Z 3 2,023,000 2,023 2,130 2107
23U (M) 3,823 3,930 A 107
202 04l 2,023 2,130 A 107
01 SLHOYI 2,023 2,130 A 107
O BA2gE SHAHY &3 2,023,000& 2,023 2,130 A 107

_13_




